Projectile Mathematics

Apprentice Difficulty Level
Question 1
A projectile is launched at an ® above the horizontal and lands at the same height it
was launched. Use the given information to complete the remainder of the table.

This document belongs to The Physics Classroom. It should not appear on other websites.

Vox Voy tup tiotal dx dy-peak
A| 125 19.6 2.0
B| 15.0 29.4 6.0
C| 146 25.2
D| 21.2 12.6
E| 445 32.8
Question 2

A projectile is launched at an ® above the horizontal and lands at the same height it
was launched. Use the given information to complete the remainder of the table.

Vox Voy tup tiotal dx dy-peak
A| 150 19.6 2.0
B| 175 29.4 6.0
C| 24.2 17.8
D| 18.2 23.7
E| 481 36.2




Question 3
A projectile is launched at an ® above the horizontal and lands at the same height it
was launched. Use the given information to complete the remainder of the table.

Vox Voy tup tiotal dx dy-peak
A| 180 19.6 2.0
B| 115 29.4 6.0
C| 235 14.9
D| 178 23.6
E| 48.0 36.2
Question 4

A projectile is launched at an ® above the horizontal and lands at the same height it
was launched. Use the given information to complete the remainder of the table.

Vox Voy tup tiotal dx dy-peak
A| 225 19.6 2.0
B| 14.0 29.4 6.0
C| 28.2 26.1
D| 17.9 22.5
E| 394 34.1




Master Difficulty Level

Question 5
A projectile is launched at an ® above the horizontal and lands at the same height it
was launched. Use the given information to complete the remainder of the table.

Vo ® tup tiotal dx dy-peak
Al 220 30.0
B| 35.0 30.0
C| 328 24.4
D 1.25 75.0
E 52.6 14.5
Question 6

A projectile is launched at an ® above the horizontal and lands at the same height it
was launched. Use the given information to complete the remainder of the table.

Vo ® tup tiotal dx dy-peak
A| 18.0 30.0
B| 25.0 30.0
C| 34.2 26.8
D 1.50 72.0
E 48.2 13.2




Question 7
A projectile is launched at an ® above the horizontal and lands at the same height it
was launched. Use the given information to complete the remainder of the table.

Vo ® tup tiotal dx dy-peak
A| 16.0 30.0
B| 320 30.0
C| 382 34.5
D 1.75 77.0
E 54.5 15.7
Question 8

A projectile is launched at an ® above the horizontal and lands at the same height it
was launched. Use the given information to complete the remainder of the table.

Vo ® tup tiotal dx dy-peak
Al 24.0 30.0
B| 36.0 30.0
C| 442 38.1
D 1.40 56.0
E 65.2 32.6




Wizard Difficulty Level

Question 9
A projectile is launched at an ® above the horizontal and lands at the same height it
was launched. Use the given information to complete the remainder of the table.

Vo ® tup tiotal dx dy-peak
A| 38.38 56.2
B 2.35 63.6
C 70.8 16.9
D| 46.2 28.2
E 22.0 18.6
Question 10

A projectile is launched at an ® above the horizontal and lands at the same height it
was launched. Use the given information to complete the remainder of the table.

Vo ® tup tiotal dx dy-peak
A| 36.2 61.8
B 2.55 72.2
C 78.2 14.0
D| 36.8 17.8
E 18.0 12.4




Question 11
A projectile is launched at an ® above the horizontal and lands at the same height it
was launched. Use the given information to complete the remainder of the table.

Vo ® tup tiotal dx dy-peak
A| 425 66.7
B 2.82 68.4
C 88.4 12.8
D| 34.1 14.2
E 16.0 15.4
Question 12

A projectile is launched at an ® above the horizontal and lands at the same height it
was launched. Use the given information to complete the remainder of the table.

Vo ® tup tiotal dx dy-peak
A| 38.9 62.8
B 3.12 82.4
C 94.3 18.5
D| 37.2 16.6
E 14.0 10.6




